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Note : This paper is of seventy (70) marks containing

three (3) sections A, B and C. Learners are required
to attempt the questions contained in these sections
according to the detailed instructions given therein.
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Note : Section ‘A’ contains four (04) long answer type
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questions of fifteen (15) marks each. Learners are
required to answer two (02) questions only.
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1. What is the importance of budget in a family life
cycle ? Write in detail about the different steps of
family budget.
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2. Define Family Resources. What is the importance of
resources in family life ? Write in detail about the
characteristics of resources.
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3. Differentiate between savings and investments. What
are the different means through which a housewife can
save and invest ? Explain.
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4. What is the work simplification ? Write in detail about
various techniques of work simplification.
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Note : Section ‘B’ contains eight (08) short answer type
questions of five (05) marks each. Learners are
required to answer six (06) questions only.
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Explain the various methods through which resources
can be conserved.
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Explain problems of consumer.
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Write about Japanese style of flower arrangement
‘Ikebana.’
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What are the different types of incomes ? Explain.
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Define Standard. Worite about classification of
standard.
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How does family characteristic influence home
management ?
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Define Rhythm. What are the different ways of
creating rhythm in a design ? Write in brief.
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Write about Consumer Protection Act.
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Note : Section ‘C’ contains ten (10) objective type

questions of one (01) mark each. All the questions
of this section are compulsory.
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Write True/False :
T /31y forRay

1.

A-10

Insurance amount is fee of tax.
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Colour is a quality of light.
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In saving account the depositor can deposit and
withdraw money daily.
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District Forum is a consumer dispute redressal agency.
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The budget in which expenditure is less than the
estimated income is called deficit budget.
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Choose the correct alternative :
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Following is an intellectual value :
(@ Knowledge

(b) Hunger

(c) Money

(d) Energy
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Which is not a primary colour ?
(a Red

(b) Blue

(c) Green

(d) Yellow
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The income obtained by investment of money in a
bank or post office is called :

(@) Interest

(b) Wages

(c) Gift

(d) Reward
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National Saving Certificate are issued by :

(@) Post Office

(b) Bank

(c) LIC

(d) Co-operatives
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10. Which of the following is not a stage of controlling ?

(@ Checking

(b) Emerging

(c) Capability

(d) Adjusting
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